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USN BMATS201

Second Semester B.E./B.Tech. Degree Examination, June/July 2025

Mathematics - 1l for CSE Stream

Time: 3 hrs. Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C: Course outcomes.

100

Module - 1 M| L C
Q.1 | a. | Evaluate 07 | L3 | CO1
1 z x+z
J. J. J.(x+y+z)dydxdz
-1 0 x-z
b. | Evaluate 07 | L3 | CO1
o0 00 —y
J. J. e—dy dx - by changing the order of integration.
0 x
c¢. | Show that 06 | L2 | CO1
['(m).['(n
(m,n) =L -1
I'(m+n)
OR
Q.2 | a. | Evaluate 07 | L3 | CO1
Ly
j (x> +y*)dydx - by changing to polar coordinates.
0 0
b. | Using double integration find the area of a plate in the form of a quadrant | 07 | L3 | CO1
X2 y2
of the ellipse =~ —+— =1
p a2 b2
c. | Using mathematical tools, write the code to find the volume of the | 06 | L3 | CO5
tetrahedron bounded by the planes x =0, y=0, z=0 and 6x + 3y + 2z =6.
Module — 2
Q.3 | a. | Find the angle between the surfaces x° +y* +z°=9 andz=x"+y -3 at |07 | L2 | CO2
the point (2, —1, 2).
b. | “Bvaluate divF and curlF at the point (1, 2, 3), 07| L3 | CO2
given F= grad(x’y +y'z + 2’x — X’y’2%)
€. | Express the vector F =2xi- 3y’ 3 +zxk in cylindrical form. 06 | L3 | CO2
OR
Q.4 | a. | Find the directional derivative of d(x, y, z) = X'yz + yxz* at (1, -2, 1) | 07 | L2 | CO2
in the direction of the vector 2i —j ~2k.
b. | Show that the vector 07 | L3 | CO2
F = % is both solenoidal and irrotational.
X +y
¢. | Using mathematical tool, write the code to find the gradient of xy’ + yz'. 06 | L3 | COS
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BMATS201

Module — 3
Q.5 Show that the set W = {(x, vy, z) / x + y + 2z = 0} of the vector space | 07 | L2 | CO3
V3(R) is a subspace of V3(R).
Find the basis and dimension of the subspace spanned by the vectors | 07 | L3 | CO3
{(1,-1, 0), (0,3, 1), (1,2, 1), (2,4,2)} inR’.
Find the matrix of the linear transformation T : V,(R) — V3(R) such that | 06 | L2 | CO3
T(-1,1)=(-1,0,2) and T(2,1)=(1,2,1).
OR
Q.6 Determine whether the following set of vectors in 2x2 matrix space is | 07 | L2 | CO3
linearly independent or linearly dependent:
S 1 ! wh 201 30 q 1 0
= {vi, Vo, v3,} wWhere v;= , Vo= and v; =
1, V2, V3 P P S P
Prove that T : R’ = R? defined by T(x, y, z) =(x +y, y + 2z) is a linear | 07 | L2 | CO3
transformation.
Verify the Rank — nullity theorem for the linear transformation T : R - R* | 06 | L2 | CO3
defined by T(x,y,z)=(y—x,y—2).
Module — 4
Q.7 Find a real root of the equation x log,,x = 1.2 < by regula falsi method | 07 | L2 | CO4
corrected to 4 decimal places between (2.5, 3). Carry out 4 iterations.
From the following table of half yearly premium for policies maturing at | 07 | L3 | CO4
different ages, estimate the premium for the policies maturing at the
age of 46.
Age : 45 50 55 60 65
Premium (in Rs.) | 114.84 | 96.16 | 83.32 | 74.48 | 68.48
Use Trapezoidal rule to estimate the integration 06 | L3 | CO4
1
I ! ~dx by taking 10 equal intervals.
o1+ X
OR
Q.8 Find by Newton’s Raphson method, the root of the equation cos x = x ¢* | 07 | L2 | CO4
near to 0.5, corrected to 4 decimal places.
Using Newton’s divided difference interpolation, find the interpolating | 07 | L3 | CO4
olynomial of the given data:
X : -4 | -110 2 5
fix):|1245] 33 | 5 9 | +1335
Evaluate using Simpson’s (1/3) rule, 06 | L3 | CO4

52

I logx dx by dividing the range (4, 5.2) into seven ordinates.
4
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Module - §
Q.9 Solve y =3x+y”;y(0)=1 using Taylor’s series method at x = 0.1 and | 07 | L3 | CO4
x=0.2.
- . . 07 | L3 | CO4
Given dy =Y7% With y =1 when x = 0. Find an approximate y at
dx y+x
x =0.1 using Euler’s modified method. (Use modified formula twice).
From the data given below find y at x = 1.4 using Milne’s method. | 06 | L3 | CO4
Given Y _y + .
dx 2
x: |1 1.1 1.2 1.3
y: 2122156 |2.4549 | 2.7514
OR
Q.10 Using Runge — Kutta method of order 4, find y at x = 0.2, given |07 | L3 | CO4
dy x*+y’ :
— = ; y(0) =1 taking h=0.1.
w10 YO g
. ) 07 | L3 | CO4
Using modified Euler’s method solve  y' = 3x +% with y(0) = 1 taking
h=0.2 atx=0.2. (Use modified Euler’s formula twice).
dy 06 | L3 | COS

Using mathematical tools, write the code to solve r =xy—-1; y(0)=1
X

by Taylor’s series method at x =0.1(0.1) 0.3

* %k ok ok sk
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USN

BPHYS102/202

First/Second Semester B.E./B.Tech.Degree Examination, June/July 2025

Applied Physics for CSE Stream

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C: Course outcomes.
Module — 1 M| L C
Q.1 | a. | Discuss the three processes of interaction of radiation with matter along | 09 | L2 | CO1
with relevant mathematical expressions and diagrams.
b. | Define attenuation and give expression for attenuation coefficient in an | 07 | L2 | CO1
optical fiber. Explain the three major causes of attenuation.
c. | In a diffraction grating experiment, the laser light undergoes third order | 04 | L3 | CO5
diffraction with diffraction angle 2.2°. .The grating constant is
d = 5.05x10” m. The distance between the grating and source is 0.8 m. Find
the wavelength of laser.
OR
Q.2 | a. | Define  acceptance angle and numerical aperture. Hence, derive an | 08 | L2 | CO1
expression for NA in terms of RIs of core, cladding and surrounding.
b. | Discuss the application of laser in bar-code scanner and laser printer with | 08 | L2 | CO1
the help of relevant diagrams.
c¢. | Given the Numerical aperture 0.30 and RI of core 1.52, calculate the R.I of | 04 | L3 | CO1
clad.
Module — 2
Q.3 | a. | Derive the expression for deBroglie wavelength by analogy and explain | 08 | L2 | CO2
Heisenberg uncertainty principle with relevant mathematical expressions.
b. | Discuss eigen wavefunction, probability function for a particle in an infinite | 08 | L2 | CO2
potential well for the ground state and 1™ excited state with neat relevant
diagram.
c. | Calculate the energy of first three states for an electron in a one | 04 | L3 | CO2
dimensional potential well of width 0.2 nm.
OR
Q.4 | a. | Set up Schrodinger’s time-independent differential wave equation. Mention | 08 | L2 | CO2
the expression for 3 dimensional version of the same.
b. | Write note on: 1) Wave function 08 | L2 | CO2
1) Max Born interpretation
ii1) Principle of complementarity
¢. | The speed of an electron is measured to within an uncertainty of 3x10* ms™' | 04 | L3 | CO2
in one dimension. What is the minimum width required by the electron to
be confined in an atom?
Module — 3
Q.5 | a. | Discuss_ (i) Quantum NOT gate (1) CNOT gate with matrix | 08 | L2 | CO2
representation and their operation on the basis states.
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Q.5 Define qubit and mention three properties. Explain the representation of | 08 | L2 | CO2
qubit using Bloch sphere.
a, B, . 04 | L3 | CO2
Given |y >= and |¢>= 5| prove that <y | ¢>=<¢ | y>
2 2
OR
Q.6 Explain the operation of (i) Hadamard gate and (i1) Toffoli gate with | 08 | L2 | CO2
matrix representation and truth table.
Explain orthogonality and orthonormality with an example for each. 08 | L2 | CO2
Show that the matrix 04| L3 | CO2
i 00
A=]10 1 O 1s unitary.
0 0 i
Module — 4
Q.7 Mention 3 failures of CFET and the assumptions of QFET. 07 | L2 | CO3
Write short notes on (i) quantum tunnelling . (ii) squid (iii) charge qubit | 08 | L2 | CO3
(iv) Josephson junction.
Calculate the probability of occupation of an energy level 0.02 eV above | 05 | L3 | CO3
Fermi level at 300 K.
OR
Q.8 Define Fermi factor. Discuss the variation of Fermi factor with temperature | 08 | L2 | CO3
and energy. Represent the same using graph.
With relevant diagrams, explain Type-1 (Soft) and type-2(Hard) | 08 | L2 | CO3
superconductors with two examples for each.
Superconducting -aluminium has critical temperature of 1.2 K at zero | 04 | L3 | CO3
magnetic field. If the critical field is 0.01 Tesla at 0 K, find its critical field
at 0.5 K.
Module — 5§
Q.9 [llustrate odd rule and odd rule multipliers with suitable example for | 08 | L2 | CO4
slow-in and slow-out.
Mention the general pattern of Monte Carlo method and hence determine | 08 | L2 | CO4
the value of m .
Given the base distance 0.5 cm for the slow-in and given the last frame 1s | 04 | L3 | CO4
6 , calculate the distance between the frames #3 and #4 .
OR
Q.10 Distinguish between descriptive and inferential statistics. 08 | L2 | CO4
In the context of animation, describe the action of jump with measurable | 08 | L2 | CO4
physical quantities and relations between them.
The average number of internet failures in a household per week is 3. What | 04 | L3 | CO4

is the probability of 4 internet failures happening next week assuming
Poisson model?

* %k ok ok sk
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USN

BPOPS103/203

First/Second Semester B.E./B.Tech. Degree Examination, June/July 2025

Principles of Programming using C

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
Module — 1 M| L C
Q.1 | a. | Explain the components of a computer with a neat diagram. 06 | L2 | CO1
b. | Explain the formatted input and output statements with suitable syntax and | 06 | L2 | CO2
example.
c. | [ustrate an algorithm, flowchart and program to compute area of a circle. | 08 | L2 | CO2
OR
Q.2 | a. | What is variable? What are the rules to construct a variable? 06 | L2 | CO2
b. | Identify the following as valid or invalid identifiers with justification: 06 | L2 | CO2
1) int 11) num?2 ii1) +add
iv)a—2 V) —sum vi) name 123
c¢. | Explain the structure of C program. Write a sample program to demonstrate | 08 | L2 | CO2
the components in the structure of C program.
Module — 2
Q.3 | a. | Discuss the functioning of the following operators with example. 06 | L2 | CO2
1) Arithmetic i1) Relational
b. | Compare between the break and continue statement. 06 | L2 | CO2
c. | Explain switch statement with syntax. Write a program to simulate simple | 08 | L2 | CO2
calculator.
OR
Q.4 | a. | Explain for loop with syntax and example. 06 | L2 | CO2
b. | Explain with syntax, if and if-else statements in C program. 06 | L2 | CO2
¢. | Develop a C program that takes three coefficients (a, b and c) of quadratic | 08 | L3 | CO5
equation (ax” + bx + ¢) as input and compute all possible roots and print
them with appropriate messages.
Module — 3
Q.5 | a. | Explain the syntax of function declaration and function definition with | 06 | L2 | CO4
example.
b. | Write a C program to swap two integers using call by value method of | 06 | L2 | CO3
passing arguments to a function.
c. | Explain different types of storage classes with example. 08 | L2 | CO3
1 of2
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OR
Q.6 Explain the declaration and initialization of 1D and 2D arrays with | 06 | L2 | CO3
example.
[lustrate the concept of recursive function with example. 06 | L2 | CO4
Write a C program to implement Bubble sort technique (ascending order). | 08 | L2 | CO3
Module — 4
Q.7 Write the operations that can be performed on string using built-in | 08 | L2 | CO4
functions. Explain any two functions.
Develop a C program to concatenate 2 strings without using built-in | 06 | L3 | CO5
function.
Explain array of strings with an example. 06 | L3 | COS
OR
Q.8 Develop a program using pointer to compute the sum, mean and standard | 08 | L3 | CO5
deviation of all elements stored in array of N real numbers.
Describe the pointer concept such as initialization, declaration with suitable | 06 | L3 | CO3
program example.
Explain gets( ) and puts( ) function with example. 06 | L2 | CO1
Module - §
Q.9 What is structure? Explain the C syntax of structure declaration with | 06 | L2 | CO3
example.
Compare structures and unions with syntax and example. 06 | L2 | CO3
Implement structures to read, write and compute average-marks of the | 08 | L3 | CO5
students. List the students scoring above and below the average marks for a
class of N students.
OR
Q.10 Discuss the different modes of operation on files with suitable example. 08 | L2 | CO4
Compare between fgets( ) and gets(). 06 | L2 | CO4
Discuss the enumerated data type. Explain the declaration and access of | 06 | L2 | CO1

enumerated data type with a code in C.

* %k sk sk ok
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USN BESCK204D

Second Semester B.E./B.Tech. Degree Examination, June/July 2025

Introduction to Mechanical Engineering

Time: 3 hrs. Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.

100

Module - 1 M| L C
Q.1 | a. | Explain briefly the emerging trends of Mechanical engineering in |10 | L2 | CO1
manufacturing and energy sector.
b. | Write a note on : 1) Global warming  ii) Ozone layer depletion. 10| L2 | CO1
OR
Q.2 | a. | Explain the working of hydel power plant with a neat sketch. 10| L2 | CO1
b. | Explain with neat sketch, construction and working of a nuclear power | 10 | L2 | CO1
plant.
Module - 2
Q.3 | a. | Explain the working principle of Drilling Machine. 04| L2 | CO2
b. | Illustrate the following operations of milling with sketches: 08 | L3 | CO2
1) Plain milling i1) Slot milling
c. | With a neat sketch, explain the following operations performed on lathe | 08 | L2 | CO2
machine:
1) Turning i1) Facing
OR
Q.4 | a. | Describe the various components of CNC with schematic diagram. 10 | L2 | CO2
b. | Define 3D printing. List the various steps involved in the 3D printing. 06 | L2 | CO2
c. | List the advantages and applications of CNC. 04| L1 | CO2
Module — 3
Q.5 | a. | Analyze the working of the 4 stroke diesel engine with sketches. Plot the | 12 | L3 | CO3
PV diagram.
b. | List the differences between 4 stroke petrol and diesel engine. 08 | L1 | CO3
OR
Q.6 | a. | Describe electric vehicles. Explain the components and working of electric | 08 | L2 | CO3
vehicles.
b. | Describe Hybrid Vehicles. Explain the components of Hybrid vehicles. 08 | L2 | CO3
c. | List the advantages and limitations of electric vehicles. 04 | L1 | CO3
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Module — 4
Q.7 Define engineering material. Briefly explain the classification of ferrous | 10 | L2 | CO4
and non ferrous metals.
Describe the following materials: 10 | L2 | CO4
1) Ceramics  i1) Shape memory alloys 111) Glass iv) Diamond
OR
Q.8 List the differences between soldering, brazing and welding. 10 | L1 | CO4
Describe the construction and working of gas welding process with neat | 10 | L2 | CO4
sketch.
Module —§
Q.9 Enumerate the differences between open loop and closed loop systems. 06 | L1 | COS
Based on the configuration explain different types of robots with sketches. | 10 | L2 | CO5
Explain the physical design of IoT. 04 | L2 | CO5
OR
Q.10 Define automation. Explain the three types of automation. 10 | L2 | COS
Define IoT. List the characteristics of [oT. 10 | L1 | COS

* %k ok ok sk
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USN BETCK205H

Second Semester B.E./B.Tech. Degree Examination, June/July 2025

Introduction to Internet of Things (1oT)

Time: 3 hrs. Max. Marks:

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.

100

Module — 1 M| L C
Q.1 | a. | What 1s [oT? Write the characteristics of IoT system. 06 | L1 | CO1
. | Explain four broad categories of network based on reachability. 06 | L2 | CO1
¢. | Explain OSI model with the help of neat diagram. 08| L2 | CO1
OR
Q.2 | a. | With a neat diagram explain the evolution of [oT. 08 | L2 | CO1
Differentiate between loT and WoT. 04| L2 | CO1
¢. | Explain various networking components of [oT with a neat diagram. 08 | L2 | CO1
Module — 2
Q.3 | a. | Define sensor and explain the characteristics of sensor. 06 | L1 | CO2
. | Explain the factors affecting sensorial deviations. 06 | L2 | CO2
c. | With a block diagram, explain the functional blocks of a typical sensor | 08 | L2 | CO2
node in IoT.
OR
Q.4 | a. | Differentiate between sensors and actuators. 04| L1 | CO2
Explain the desired characteristics of actuators used in loT. 06 | L2 | CO2
c. | Explain any five classes of actuators. 10 | L2 | CO2
Module — 3
Q.5 | a. | What are the different data formats found in loT network? Explain briefly. | 06 | L2 | CO3
Explain the importance of processing in [oT. 04 | L2 | CO3
c. | With a neat diagram, explain on-site¢ processing topology. Mention its | 10 | L2 | CO3
merits and demerits.
OR
Q.6 | a. | Explain IoT device design and selection considerations. 10 | L2 | CO3
. | With a neat diagram explain collaborative processing technology. 06 | L2 | CO3
c. | Explain four offload location types. 04| L2 | CO3
Module — 4
Q.7 | a. |'What is virtualization? Explain its advantages from end-user and service | 10 | L2 | CO4
provider point of view.
Explain different types of virtualization in detail. 05| L2 | CO4
c. | Explain service level agreement and its metrics in cloud computing. 05| L2 | CO4
OR
Q.8 | a. | Explain the features of 05| L2 | CO4
(1) Cloud Analyst (1) Green cloud
. | With a neat diagram, explain the components of an agricultural IoT. 10 | L2 | CO4
c. | Explain the advantages of [oT in agriculture. 05| L2 | CO4
Module —§
Q.9 | a. | Explain the components of vehicular IoT with a neat diagram. 10 | L2 | CO5
b. | Explain the advantages and risks in healthcare IoT. 10 | L2 | CO5
OR
Q.10 | a. | With a neat diagram, explain the layered architecture of AmbuSens system | 10 | L2 | CO5
of healthcare IoT.
b. | Illustrate the types of machine learning and explain in detail. 10 | L3 | COS
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Time: 3 hrs.

USN

BETCK205I

Second Semester B.E/B.Tech. Degree Examination, June/July 2025

Introductions to Cyber Security

2. M : Marks , L: Bloom’s level , C: Course outcomes.

Max. Marks:100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

Module — 1 M | L C
1 | a. | Who are cyber criminals? Discuss the three group of cyber criminals. 10 | L2 | CO1
b. | List the various cyber crimes. Explain the cybercrime against organization and | 10 | L1 | CO1
against individual.
OR
2 | a. | Discuss cyber crime and the Indian ITA 2000. 6 | L2 | CO1
b. | Explain cyber defamation. 6 | L2 | CO1
c. | Explain Spamming , Forgery, Data diddling salami attack/salami technique. 8§ | L2 |CO1
Module — 2
3 | a. | Define cyber stalking. Explain types of stalkers. 6 | L2 | CO2
b. | Explain Botnets in detail. 7 | L2 | CO2
c. | Explain how stalking works? 7 | L2 | CO2
OR
4 | a. | How criminals plan the attacks? Explain phases involved in planning cyber | 10 | L1 | CO2
crime.
b. | What is social engineering? Discuss Human Based and Computer Based social | 10 | L1 | CO2
engineering.
Module -3
5 | a. | Explain password cracking. 6 | L2 ]| CO3
b. | Explain strong, weak and random passwords. 6 | L2 | CO3
c. | Explain key loggers and spywares. 8§ | L2 ]|CO3
OR
6 | a. | Explain types of viruses. 7 | L2 | CO2
b. | Explain back doors. 6 | L2 | CO2
c. | Explain types or levels of DoS attacks and discuss tools used to launch DoS | 7 | L2 | CO3
attack.
Module — 4
7 | a. | Explain method of phishing. 8 | L2 | CO4
b. | Explain phishing techniques. 6 | L2 | CO4
c. | Explain types of phishing scams. 6 | L2 | CO4
OR
8 | a. | Explain phishing counter measures. 10 | L2 | CO4
b. | List and explain types of identity theft. 10 | L2 | CO4
Module -5
9 | a. | Explain the digital forensics process. 6 | L2 | COS
b. | Explain phases in computer forensics/digital forensics. 7 | L2 | COS
c. | Explain RFC 2822. 7 | L2 | COS
OR
10 | a. | Explain Network forensics. 6 | L2 | COS
b. | Explain the need for computer forensics. 6 | L2 | COS
c. | Explain forensics analysis of E-mail. 8 | L2 | CO5
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Question Paper Version : A

USN

First/Second Semester B.E./B.Tech/B.Design Degree Examination,
June/July 2025

Professional Writing Skills in English

(COMMON TO ALL BRANCHES)

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.
1.  Either Maya or her sisters the answer.

(Identify the correct form of verb)

a) know b) knows c) knowing d) known
2. Everyone to dance at their free time.

(Identify the correct form of verb)

a) likes b) like c) liking d) None of these
3. One of'the lost his way while ice hiking. (Choose the correct option)

a) Students b) Student c) Student’s d) Students’
4. The chairman and president _ going to lead the team from today.

(Identify the correct form of verb)

a) is b) are c) have d) were
5.  The student who hard will succeed. (Indentify the correct form of verb)

a) work b) works

c) either work or works d) None of these
6. Passme sugar from the table. (Choose the correct article)

a) the b) a ) an d) no article

Ver— A 1of6



10.

11.

12.

13.

14.

15.

16.

17.

18.

BPWSK106/206/22BD26

cars have you owned so far? (Choose the appropriate option)
a) How b) How many ¢) How much d) How more

Her work is superior mine. (Choose the appropriate preposition)

a) for b) at c) to d) of

I haven’t seen him yesterday. (Choose the appropriate preposition)

a) since b) for ¢) during d) until
No sooner had she finished one project she started the next.

(Choose the appropriate conjunction)

a) than b) when c) but d) or
It’s 3:30 pm my watch.

a) by b) on c) in d) with
Tables are covered white linen, table cloths. (Choose the appropriate preposition)
a) by b)on c) in d) with
Verbal Analogies :

Marathon : Race :: Hibernation :

a) Winter b) Bear c¢) Dream d) Sleep

The given text is a/an paragraph.

In spite of all the benefits, some parents simply will not allow their children to study
abroad. A portion will argue that it is not safe. Other will argue that studying abroad costs
too much money. In these cases, it is important to take a look at one semester’s financial
aid statement. How much does it cost to be a student at a local university? When tuition,
housing, textbooks, transportation, and meal plans are considered, it becomes difficult to
argue that there is a stark difference in the cost of a semester at home versus a semester
abroad.

a) Argumentative b) Descriptive c) Persuasive d) Narrative

What is a descriptive paragraph?

a) Text describing a person, animal, place, or thing
b) Text telling a story to the reader

c) Text giving your opinion to the reader

d) Text explaining a concept or an idea.

How many topics.should be covered in a paragraph?

a) one b) two c) three d) four
What is the term for the smooth-and logical flow of sentences in a paragraph?
a) Unity b) Coherence

c) Adequate development d) Variety

He handled the load carefully. (change into passive voice)
a) The load were carefully handled by him.

b) The load is carefully handled by him.

c¢) The load has been carefully handled by him1

d) The load was carefully handled by him.

Ver— A 2of6
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He was praised by his father. (Identify the Active Voice of the given sentence)
a) His father is praising him. b) His father will praise him.
c) His father praised him. d) His father has praised him3

20.

21.

22.

23.

24.

25.

26.

27.

The scientist made a ground-breaking discovery. (Change into Passive voice)

a) Ground — breaking discovery was made by the scientist.

b) A ground-breaking discovery was made by the scientist.

c¢) A ground-breaking discovery is made by the scientist.

d) A ground-breaking discovery has been made by the scientist.

He asked me “Do you find law interesting?”” (Change into Reported Speed)

a) He asked me if I found law interesting.

b) He asked me that if I found law interesting.
c) He asked me do I found law interesting.

d) He asked me that I found law interesting.

He asked, “what time does the train depart?” (Change into Reported Speech)

a) He asked that what time the train did depart.
b) He asked what time the train did depart.

c) He asked what time the train does depart.
d) He asked what time the train depart.

He said, “Please close the door.” (Change into Reported Speech|)
a) He suggested to close the door.

b) He ordered to close the door.

¢) He commanded to close the door.

d) He requested to close the door.

Spot the error :

The surgery went well (A) / and she was only on the hospital (B) / for two days.

(C) / No Error (D)
a) A b) B c)C

An essay is

a) Made up of only one sentence.

b)a series of sentences about a specific subject.
c) a'series of sentences about various subject.
d) a series of paragraphs about one main idea.

What should be the primary focus when writing a précis?
a) In-depth analysis and personal opinions.

b) Detailed explanations and elaborate examples.

c) Concise summarization of the main points.

d) Lengthy quotations and extensive illustrations.

Which of the following is not a rule of précis writing?

a) Should always have a title.

b) Copy the sentences from the original paragraph.

c) Remove irrelevant information present in the original paragraph.
d) Should be written in the writer’s own words.
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Choose the currently punctuated sentence :
a) [ met a beautiful, Indian woman.

b) I met a beautiful Indian woman.

¢) I met a beautiful Indian, woman.

d) I met a beautiful, Indian, woman.

For active listening, one should

a) hear, understand, and observe the body language of the speaker.
b) Keep talking.

c¢) have no eye contact with the speaker.

d) repeat exactly what the speaker says.

Which of the following is a barrier to effective listening?
a) Maintaining eye contact with the speaker.

b) Asking clarifying questions for better understanding.
c¢) Responding with empathy and understanding.

d) Non-attentive state of mind.

Which of the following is a key component of effective reading comprehension?
a) Reading as quickly as possible to cover more material

b) Reading in a noisy environment with distractions

c) Engaging in active reading by highlighting or taking notes

d) Skipping over unfamiliar words without trying to understand them

Which of the following is a key feature for effective participation in a group discussion?
a) Dominating the conversation

b) Ignoring other opinions

c) Active listening and collaboration

d) Avoiding eye contact with group members

Which of the following is the correct collocation?
a) Make a decision

b) Do a decision

c¢) Create a decision

d) Produce a decision

During a professional interview, which of the following is an appropriate response to the
question, “what are your weaknesses?”

a) “I don’t have any weaknesses.”

b) “I work too hard-and am a perfectionist.”

c) “I struggle with time management, but I’'m actively working on improving it.”

d) “I prefer to work alone and cannot collaborate well with others.”

What is the primary purpose of technical writing?
a) to entertain the reader.

b) to persuade the reader.

¢) to inform or instruct the reader.

d) to express the writer’s emotions.
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What should be the tone of a technical proposal?
a) Casual and informal

b) Personal and emotional

c¢) Formal and professional

d) Playful and humorous

The introduction paragraph in an essay

a) provides a summary of the entire text.

b) present the main arguments and evidence.
c) engages the reader and introduces the topic.
d) concludes the writing.

Which of the following statements accurately describes the role of a conclusion
paragraph?

a) It primarily introduces new information and ideas.

b) It summarizes the key points.

c) If focuses on presenting supporting.

d) It engages the reader with personal stories.

A job application must include

a) Unrelated stories.

b) Detailed list of job duties from previous positions.
c) Brief summary of your key skills and experiences.
d) Criticism of the company current practices.

Which of the following statement is TRUE in case of Resume writing?

a) A common resume could be used for any job requirement.

b) Modifying very resume to suit a particular job application is beneficial.
c) Resume could be of any length.

d) Resume may include a list of unrelated hobbies and interests.

“Our blessings come from above.” Identify the part of speech for the word “above” in the
given sentence.

a) Verb b) Noun

c) Adverb d) Preposition.

What is the key aspect of effective presentation skills?
a) Avoiding eye contact with the audience.

b) Speaking in a monotone voice.

c¢) Customizing the message to suit the audience’s need.
d) Reading directly from the slides.

When writing a professionals email, what should be avoided in the body of the message?
a) Clear and concise language

b) Informal language and slang

c¢) Relevant attachments

d) Proper formatting

Ver— A 50f6



44.

45.

46.

47.

48.

49.

50.

BPWSK106/206/22BD26

Which of the following is a form of non-verbal communication?
a) Using gestures and facial expressions

b) Speaking loudly

c) Writing an email

d) Sending a text message

Identify the correct word to fill in the blank :
She wore a beautiful at the party.
a) gown b) down Cc) grown d) ground

Which of the following is an example of effective interpersonal skills?
a) Avoiding eye contact during a conversation.

b) Interrupting others while they are speaking.

c¢) Speaking loudly to dominate the conversation.

d) Actively listening and responding to others.

How does effective intrapersonal communication contribute to personal development?
a) By fostering positive self — talk and understanding one’s worth

b) By avoiding self-reflection

c) By ignoring personal goals

d) By ignoring personal worth

Choose the sentence that represents a grammatically improved version of the given
sentence :

“The weather is bad, yet we’ll go for a picnic.”

a) Although the weather is bad, but will to for a picnics

b) The weather is bad, still we’ll go for a picnic.

c) Despite the bad weather, we’ll go for a picnic.

d) The weather is bad, so we’ll go for a picnic.

Identify the sentence with the correct word order :

a) He always completes his homework before dinner.
b) Before dinner, his homework always completes he.
c) His homework he always completes before dinner.
d) Always completes he his homework before dinner.

Identify the sentence with the misplaced modifier :

a) The announcement was made by the principal with excitement.
b) With excitement, the principal made the announcement.

c¢) The principal made the announcement with excitement.

d) The announcement was made with excitement by the principal.

* %k sk ok ok
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INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.
1.  “Our blessings come from above.” Identify the part of speech for the word “above” in the
given sentence.
a) Verb b) Noun
c) Adverb d) Preposition.

2.  What is the key aspect of effective presentation skills?
a) Avoiding eye contact with the audience.
b) Speaking in a monotone voice.
¢) Customizing the message to suit the audience’s need.
d) Reading directly from the slides.

3. When writing a professionals email, what should be avoided in the body of the message?
a) Clear and concise language
b) Informal language and slang
c¢) Relevant attachments
d) Proper formatting

4.  Which of the following is a form of non-verbal communication?
a) Using gestures and facial expressions
b) Speaking loudly
c) Writing an email
d) Sending a text message
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Identify the correct word to fill in the blank :
She wore a beautiful at the party.
a) gown b) down c) grown d) ground

Which of the following is an example of effective interpersonal skills?
a) Avoiding eye contact during a conversation.

b) Interrupting others while they are speaking.

¢) Speaking loudly to dominate the conversation.

d) Actively listening and responding to others.

How does effective intrapersonal communication contribute to personal development?
a) By fostering positive self — talk and understanding one’s worth

b) By avoiding self-reflection

c) By ignoring personal goals

d) By ignoring personal worth

Choose the sentence that represents a grammatically improved version of the given
sentence :

“The weather is bad, yet we’ll go for a picnic.”

a) Although the weather is bad, but will to for a picnics

b) The weather is bad, still we’ll go for a picnic.

c) Despite the bad weather, we’ll go for a picnic.

d) The weather is bad, so we’ll go for a picnic.

Identify the sentence with the correct word order :

a) He always completes his homework before dinner.

b) Before dinner, his homework always completes he.
c) His homework he always completes before dinner.
d) Always completes he his homework before dinner.

Identify the sentence with the misplaced modifier :

a) The announcement was made by the principal with excitement.
b) With excitement, the principal made the announcement.

c¢) The principal made the announcement with excitement.

d) The announcement was made with excitement by the principal.

Which of the following is'a key component of effective reading comprehension?
a) Reading as quickly as possible to cover more material

b) Reading in a noisy environment with distractions

c) Engaging in active reading by highlighting or taking notes

d) Skipping over unfamiliar words without trying to understand them

Which of the following is a key feature for effective participation in a group discussion?
a) Dominating the conversation

b) Ignoring other opinions

c) Active listening and collaboration

d) Avoiding eye contact with group members
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Which of the following is the correct collocation?
a) Make a decision

b) Do a decision

c¢) Create a decision

d) Produce a decision

During a professional interview, which of the following is an appropriate response to the
question, “what are your weaknesses?”

a) “I don’t have any weaknesses.”

b) “I work too hard and am a perfectionist.”

c) “I struggle with time management, but I’'m actively working on improving it.”

d) “I prefer to work alone and cannot collaborate well with others.”

What is the primary purpose of technical writing?
a) to entertain the reader.

b) to persuade the reader.

¢) to inform or instruct the reader.

d) to express the writer’s emotions.

What should be the tone of a technical proposal?
a) Casual and informal

b) Personal and emotional

c¢) Formal and professional

d) Playful and humorous

The introduction paragraph in an essay

a) provides a summary of the entire text.

b) present the main arguments and evidence.
c) engages the reader and introduces the topic.
d) concludes the writing.

Which of the following statements accurately describes the role of a conclusion
paragraph?

a) It primarily introduces new information and ideas.

b) It summarizes the key points.

c) If focuses on presenting supporting.

d) It engages the reader with personal stories.

A job application must include

a) Unrelated stories.

b) Detailed list of job duties from previous positions.
c) Brief summary of your key skills and experiences.
d) Criticism of the company current practices.

Which of the following statement is TRUE in case of Resume writing?

a) A common resume could be used for any job requirement.

b) Modifying very resume to suit a particular job application is beneficial.
c) Resume could be of any length.

d) Resume may include a list of unrelated hobbies and interests.
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It’s 3:30 pm my watch.

a) by b) on c) in d) with

Tables are covered white linen, table cloths. (Choose the appropriate preposition)
a) by b) on c) in d) with

Verbal Analogies :

Marathon : Race : : Hibernation :

a) Winter b) Bear ¢) Dream d) Sleep

The given text is a/an paragraph.

In spite of all the benefits, some parents simply will not allow their children to study
abroad. A portion will argue that it is not safe. Other will argue that studying abroad costs
too much money. In these cases, it is important to take a look at one semester’s financial
aid statement. How much does it cost to be a student at a local university? When tuition,
housing, textbooks, transportation, and meal plans are considered, it becomes difficult to
argue that there is a stark difference in the cost of a semester at home versus a semester
abroad.

a) Argumentative b) Descriptive ¢) Persuasive d) Narrative

What is a descriptive paragraph?

a) Text describing a person, animal, place, or thing
b) Text telling a story to the reader

c) Text giving your opinion to the reader

d) Text explaining a concept or an idea.

How many topics should be covered in a paragraph?

a) one b) two c)three d) four
What is the term for the smooth and logical flow of sentences in a paragraph?
a) Unity b) Coherence

c) Adequate development d) Variety

He handled the load carefully. (change into passive voice)
a) The load were carefully handled by him.

b) The load is carefully handled by him.

c). The load has been carefully handled by him1

d) The load was carefully handled by him.

He was praised by his father. (Identify the Active Voice of the given sentence)
a) His father is praising him. b) His father will praise him.
c) His father praised him. d) His father has praised him3

The scientist made a ground-breaking discovery. (Change into Passive voice)
a) Ground — breaking discovery was made by the scientist.

b) A ground-breaking discovery was made by the scientist.

c¢) A ground-breaking discovery is made by the scientist.

d) A ground-breaking discovery has been made by the scientist.

Either Maya or her sisters __ the answer.

(Identify the correct form of verb)

a) know b) knows c) knowing d) known
Ver—B 4 0f6
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Everyone to dance at their free time.

(Identify the correct form of verb)

a) likes b) like c) liking d) None of these

One of the lost his way while ice hiking. (Choose the correct option)

a) Students b) Student ¢) Student’s d) Students’

The chairman and president  going to lead the team from today.

(Identify the correct form of verb)

a) is b) are c) have d) were

The student who hard will succeed. (Indentify the correct form of verb)

a) work b) works

c) either work or works d) None of these

Pass me sugar from the table. (Choose the correct article)

a) the b) a ) an d) no article
cars have you owned so far? (Choose the appropriate option)

a) How b) How many ¢) How much d) How more

Her work is superior mine. (Choose the appropriate preposition)

a) for b) at c) to d) of

I haven’t seen him yesterday. (Choose the appropriate preposition)
a) since b) for c¢)during d) until
No sooner had she finished one project she started the next.

(Choose the appropriate conjunction)

a) than b) when c) but d) or

He asked me “Do you find law interesting?”” (Change into Reported Speed)
a) He asked me if I found law interesting.

b) He asked me that if I found law interesting.

c) He asked me do I found law interesting.

d) He asked me that I found law interesting.

He asked, “what time does the train depart?” (Change into Reported Speech)
a) He asked that what time the train did depart.

b) He asked what time the train did depart.

c) He asked what time the train does depart.

d) He asked what time the train depart.

He said, “Please close the door.” (Change into Reported Speech|)
a) He suggested to close the door.

b) He ordered to close the door.

c) He commanded to close the door.

d) He requested to close the door.
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Spot the error :
The surgery went well (A) / and she was only on the hospital (B) / for two days.

(C) / No Error (D)
a) A b) B c)C d)D

An essay is

a) Made up of only one sentence.

b) a series of sentences about a specific subject.
c) a series of sentences about various subject.
d) a series of paragraphs about one main idea.

What should be the primary focus when writing a précis?
a) In-depth analysis and personal opinions.

b) Detailed explanations and elaborate examples.

c) Concise summarization of the main points.

d) Lengthy quotations and extensive illustrations.

Which of the following is not a rule of précis writing?

a) Should always have a title.

b) Copy the sentences from the original paragraph.

c) Remove irrelevant information present in the original paragraph.
d) Should be written in the writer’s own words.

Choose the currently punctuated sentence :
a) [ met a beautiful, Indian woman.

b) I met a beautiful Indian woman.

c¢) I met a beautiful Indian, woman.

d) I met a beautiful, Indian, woman.

For active listening, one should

a) hear, understand, and observe the body language of the speaker.
b) Keep talking.

c¢) have no eye contact with the speaker.

d) repeat exactly what the speaker says.

Which of the following is a barrier to effective listening?
a) Maintaining eye contact with the speaker.

b) Asking clarifying questions for better understanding.
c¢) Responding with empathy and understanding.

d) Non-attentive state of mind.

* %k sk ok ok
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1.  Which of the following is a key component of effective reading comprehension?
a) Reading as quickly as possible to cover more material
b) Reading in a noisy environment with distractions
c) Engaging in active reading by highlighting or taking notes
d) Skipping over unfamiliar words without trying to understand them

2.  Which of the following is a key feature for effective participation in a group discussion?
a) Dominating the conversation
b) Ignoring other opinions
¢) Active listening and collaboration
d) Avoiding eye contact with group members

3.  Which of the following is the correct collocation?
a) Make a decision
b) Do a decision
c¢) Create a decision
d) Produce a decision

4. During a professional interview, which of the following is an appropriate response to the
question, “what are your weaknesses?”
a) “I don’t have any weaknesses.”
b) “I work too hard and am a perfectionist.”
c) “I struggle with time management, but I’'m actively working on improving it.”
d) “I prefer to work alone and cannot collaborate well with others.”
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What is the primary purpose of technical writing?
a) to entertain the reader.

b) to persuade the reader.

¢) to inform or instruct the reader.

d) to express the writer’s emotions.

What should be the tone of a technical proposal?
a) Casual and informal

b) Personal and emotional

c¢) Formal and professional

d) Playful and humorous

The introduction paragraph in an essay

a) provides a summary of the entire text.

b) present the main arguments and evidence.
c) engages the reader and introduces the topic.
d) concludes the writing.

Which of the following statements accurately describes the role of a conclusion
paragraph?

a) It primarily introduces new information and ideas.

b) It summarizes the key points.

c) If focuses on presenting supporting.

d) It engages the reader with personal stories.

A job application must include

a) Unrelated stories.

b) Detailed list of job duties from previous positions.
c) Brief summary of your key skills and experiences.
d) Criticism of the company current practices.

Which of the following statement is TRUE in case of Resume writing?

a) A common resume could be used for any job requirement.

b) Modifying very resume to suit a particular job application is beneficial.
c) Resume could be of any length.

d) Resume may include a list of unrelated hobbies and interests.

Either Maya or her sisters the answer.

(Identify the correct form of verb)

a) know b) knows c) knowing d) known
Everyone to dance at their free time.

(Identify the correct form of verb)

a) likes b) like c) liking d) None of these
One of the lost his way while ice hiking. (Choose the correct option)

a) Students b) Student c) Student’s d) Students’
The chairman and president  going to lead the team from today.

(Identify the correct form of verb)

a) is b) are c) have d) were

Ver—-C 2o0f6



15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

BPWSK106/206/22BD26

The student who hard will succeed. (Indentify the correct form of verb)

a) work b) works

c) either work or works d) None of these

Pass me sugar from the table. (Choose the correct article)

a) the b) a c) an d) no article
cars have you owned so far? (Choose the appropriate option)

a) How b) How many ¢) How much d) How more

Her work is superior mine. (Choose the appropriate preposition)

a) for b) at c) to d) of

I haven’t seen him yesterday. (Choose the appropriate preposition)

a) since b) for ¢) during d) until

No sooner had she finished one project she started the next.

(Choose the appropriate conjunction)

a) than b) when c) but d) or

“Our blessings come from above.” Identify the part of speech for the word “above” in the

given sentence.
a) Verb b) Noun
c) Adverb d) Preposition.

What is the key aspect of effective presentation skills?
a) Avoiding eye contact with the audience.

b) Speaking in a monotone voice.

c) Customizing the message to suit the audience’s need.
d) Reading directly from the slides.

When writing a professionals email, what should be avoided in the body of the message?

a) Clear and concise language
b) Informal language and slang
c¢) Relevant attachments

d) Proper formatting

Which of the following is a form of non-verbal communication?
a) Using gestures and facial expressions

b) Speaking loudly

c) Writing an email

d) Sending a text message

Identify the correct word to fill in the blank :
She wore a beautiful at the party.
a) gown b) down c) grown d) ground

Which of the following is an example of effective interpersonal skills?
a) Avoiding eye contact during a conversation.

b) Interrupting others while they are speaking.

c¢) Speaking loudly to dominate the conversation.

d) Actively listening and responding to others.

Ver—-C 3 o0of6
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How does effective intrapersonal communication contribute to personal development?
a) By fostering positive self — talk and understanding one’s worth

b) By avoiding self-reflection

c) By ignoring personal goals

d) By ignoring personal worth

Choose the sentence that represents a grammatically improved version of the given
sentence :

“The weather is bad, yet we’ll go fora picnic.”

a) Although the weather is bad, but will to for a picnics

b) The weather is bad, still we’ll go for a picnic.

c) Despite the bad weather, we’ll go for a picnic.

d) The weather is bad, sowe’ll go for a picnic.

Identify the sentence with the correct word order:

a) He always completes his homework before dinner.

b) Before dinner, his homework always completes he.
c) His homework he always completes before dinner.
d) Always completes he his homework before dinner.

Identify the sentence with the misplaced modifier :

a) The announcement was made by the principal with excitement.
b) With excitement, the principal made the announcement.

c¢) The principal made the announcement with excitement.

d) The announcement was made with excitement by the principal.

He asked me “Do you find law interesting?” (Change into Reported Speed)
a) He asked me if I found law interesting.

b) He asked me that if I found law interesting.

c) He asked me do I found law interesting.

d) He asked me that I found law interesting.

He asked, “what time does the train depart?” (Change into Reported Speech)
a) He asked that what time the train did depart.

b) He asked what time the train did depart.

c) He asked what time the train does depart.

d) He asked what time the train depart.

He said, “Please close the door.” (Change into Reported Speech|)
a) He suggested to close the door.

b) He ordered to close the door.

¢) He commanded to close the door.

d) He requested to close the door.

Spot the error :
The surgery went well (A) / and she was only on the hospital (B) / for two days.

(C) / No Error (D)
a) A b) B c)C d)D
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An essay is

a) Made up of only one sentence.

b) a series of sentences about a specific subject.
c) a series of sentences about various subject.
d) a series of paragraphs about one main idea.

What should be the primary focus when writing a précis?
a) In-depth analysis and personal opinions.

b) Detailed explanations and elaborate examples.

c) Concise summarization of the main points.

d) Lengthy quotations and extensive illustrations.

Which of the following is not a rule of précis writing?

a) Should always have a title.

b) Copy the sentences from the original paragraph.

c) Remove irrelevant information present in the original paragraph.
d) Should be written in the writer’s own words.

Choose the currently punctuated sentence :
a) [ met a beautiful, Indian woman.

b) I met a beautiful Indian woman.

c¢) I met a beautiful Indian, woman.

d) I met a beautiful, Indian, woman.

For active listening, one should

a) hear, understand, and observe the body language of the speaker:
b) Keep talking.

c) have no eye contact with the speaker.

d) repeat exactly what the speaker says.

Which of the following is a barrier to effective listening?
a) Maintaining eye contact with the speaker.

b) Asking clarifying questions for better understanding.
c¢) Responding with empathy and understanding.

d) Non-attentive state of mind.

It’s 3:30 pm my watch.

a) by b) on c) in d) with

Tables are covered white linen, table cloths. (Choose the appropriate preposition)
a) by b) on c) in d) with

Verbal Analogies :

Marathon : Race : : Hibernation :

a) Winter b) Bear c¢) Dream d) Sleep
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The given text is a/an _ paragraph.

In spite of all the benefits, some parents simply will not allow their children to study
abroad. A portion will argue that it is not safe. Other will argue that studying abroad costs
too much money. In these cases, it is important to take a look at one semester’s financial
aid statement. How much does it cost to be a student.at a local university? When tuition,
housing, textbooks, transportation, and meal plans are considered, it becomes difficult to
argue that there is a stark difference in the cost of a semester at home versus a semester
abroad.

a) Argumentative b) Descriptive ¢) Persuasive d) Narrative

What is a descriptive paragraph?

a) Text describing a person, animal, place, or thing
b) Text telling a story to the reader

c) Text giving your opinion to the reader

d) Text explaining a concept or an idea.

How many topics should be covered in a paragraph?

a) one b) two c) three d) four
What is the term for the smooth and logical flow of sentences in a paragraph?
a) Unity b) Coherence

c) Adequate development d) Variety

He handled the load carefully. (change into passive voice)
a) The load were carefully handled by him.

b) The load is carefully handled by him.

c¢) The load has been carefully handled by him1

d) The load was carefully handled by him.

He was praised by his father. (Identify the Active Voice of the given sentence)
a) His father is praising him. b) His father will praise him.
c) His father praised him. d) His father has praised him3

The scientist made a ground-breaking discovery. (Change into Passive voice)
a) Ground — breaking discovery was made by the scientist.

b) A ground-breaking discovery was made by the scientist.

c¢) A ground-breaking discovery is made by the scientist.

d) A ground-breaking discovery has been made by the scientist.
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Ver—-C 60f6



BPWSK106/206/22BD26

Question Paper Version : D

USN

First/Second Semester B.E./B.Tech/B.Design Degree Examination,
June/July 2025

Professional Writing Skills in English

(COMMON TO ALL BRANCHES)

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

1. He asked me “Do you find law interesting?” (Change into Reported Speed)
a) He asked me if [ found law interesting.
b) He asked me that if | found law interesting.
c) He asked me do I found law interesting.
d) He asked me that I found law interesting.

2. He asked, “what time does the train depart?” (Change into Reported Speech)
a) He asked that what time the train did depart.
b) He asked what time the train did depart.
¢) He asked what time the train does depart.
d) He asked what time the train depart.

3. Hesaid, “Please close the door.” (Change into Reported Speech)|)
a) He suggested to close the door.
b) He ordered to close the door.
¢) He commanded to close the door.
d) He requested to close the door.

4.  Spot the error :
The surgery went-well (A) / and she was only on the hospital (B) / for two days.

(C) / No Error (D)
a) A b) B c)C d) D
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An essay is

a) Made up of only one sentence.

b) a series of sentences about a specific subject.
c) a series of sentences about various subject.
d) a series of paragraphs about one main idea.

What should be the primary focus when writing a précis?
a) In-depth analysis and personal opinions;

b) Detailed explanations and elaborate examples.

c) Concise summarization of the main points.

d) Lengthy quotations and extensive illustrations.

Which of the following is not a rule of précis writing?

a) Should always have a title.

b) Copy the sentences from the original paragraph.

c) Remove irrelevant information present in the original paragraph.
d) Should be written in the writer’s own words.

Choose the currently punctuated sentence :
a) [ met a beautiful, Indian woman.

b) I met a beautiful Indian woman.

¢) I met abeautiful Indian, woman.

d) I met a beautiful, Indian, woman.

For active listening, one should

a) hear, understand, and observe the body language of the speaker.
b) Keep talking.

c¢) have no eye contact with the speaker.

d) repeat exactly what the speaker says.

Which of the following is a barrier to effective listening?
a) Maintaining eye contact with the speaker.

b) Asking clarifying questions for better understanding.
c¢) Responding with empathy and understanding.

d) Non-attentive state of mind.

“Our blessings come from above.” Identify the part of speech for the word “above” in the
given sentence.

a) Verb b) Noun

¢) Adverb d) Preposition.

What is the key aspect of effective presentation skills?
a) Avoiding eye contact with the audience.

b) Speaking in a monotone voice.

c¢) Customizing the message to suit the audience’s need.
d) Reading directly from the slides.

When writing a professionals email, what should be avoided in the body of the message?
a) Clear and concise language
b) Informal language and slang
¢) Relevant attachments
d) Proper formatting
Ver—D 20f6
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Which of the following is a form of non-verbal communication?
a) Using gestures and facial expressions

b) Speaking loudly

c) Writing an email

d) Sending a text message

Identify the correct word to fill in the blank :
She wore a beautiful at the party.
a) gown b) down c) grown d) ground

Which of the following is an example of effective interpersonal skills?
a) Avoiding eye contact during a conversation.

b) Interrupting others while they are speaking.

c¢) Speaking loudly to dominate the conversation.

d) Actively listening and responding to others.

How does effective intrapersonal communication contribute to personal development?
a) By fostering positive self — talk and understanding one’s worth

b) By avoiding self-reflection

c) By ignoring personal goals

d) By ignoring personal worth

Choose the sentence that represents a grammatically improved version of the given
sentence :

“The weather is bad, yet we’ll go for a picnic.”

a) Although the weather is‘bad, but will to for apicnics

b) The weather is bad, still we’ll go for a picnic.

c) Despite the bad weather, we’ll go for a picnic.

d) The weather is bad, so we’ll go for a picnic.

Identify the sentence with the correct word order :

a) He always completes his homework before dinner.
b) Before dinner, his homework always completes he.
c) His homework he always completes before dinner.
d) Always completes he his homework before dinner.

Identify the sentence with the misplaced modifier :

a) The announcement was made by the principal with excitement.
b) With excitement, the principal made the announcement.

c¢) The principal made the announcement with excitement.

d) The announcement was made with excitement by the principal.

Which of the following is a key component of effective reading comprehension?
a) Reading as quickly as possible to cover more material

b) Reading in a noisy environment with distractions

c) Engaging in active reading by highlighting or taking notes

d) Skipping over unfamiliar words without trying to understand them
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Which of the following is a key feature for effective participation in a group discussion?
a) Dominating the conversation

b) Ignoring other opinions

c) Active listening and collaboration

d) Avoiding eye contact with group members

Which of the following is the correct collocation?
a) Make a decision

b) Do a decision

c¢) Create a decision

d) Produce a decision

During a professional interview, which of the following is an appropriate response to the
question, “what are your weaknesses?”

a) “I don’t have any weaknesses.”

b) “I work too hard and am a perfectionist.”

c) “I struggle with time management, but I’'m actively working on improving it.”

d) “I prefer to work alone and cannot collaborate well with others.”

What is the primary purpose of technical writing?
a) to entertain the reader.

b) to persuade the reader.

¢) to inform or instruct the reader.

d) toexpress the writer’s emotions.

What should be the tone of a technical proposal?
a) Casual and informal

b) Personal and emotional

c¢) Formal and professional

d) Playful and humorous

The introduction paragraph in an essay

a) provides a summary of the entire text.

b) present the main arguments and evidence.
c) engages the reader and introduces the topic.
d) concludes the writing.

Which of the following statements accurately describes the role of a conclusion
paragraph?

a) It primarily introduces new information and ideas.

b) It summarizes the key points.

c) If focuses on presenting supporting.

d) It engages the reader with personal stories.

A job application must include

a) Unrelated stories.

b) Detailed list of job duties from previous positions.
c) Brief summary of your key skills and experiences.
d) Criticism of the company current practices.
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Which of the following statement is TRUE in case of Resume writing?

a) A common resume could be used for any job requirement.

b) Modifying very resume to suit a particular job application is beneficial.
c) Resume could be of any length.

d) Resume may include a list of unrelated hobbies and interests.

It’s 3:30 pm my watch.

a) by b) on c) in d) with

Tables are covered white linen, table cloths. (Choose the appropriate preposition)
a) by b) on c) in d) with

Verbal Analogies :

Marathon : Race : : Hibernation :

a) Winter b) Bear c¢) Dream d) Sleep

The given text is a/an paragraph.

In spite of all the benefits, some parents simply will not allow their children to study
abroad. A portion will argue that it is not safe. Other will argue that studying abroad costs
too much money. In these cases, it is important to take a look at one semester’s financial
aid statement. How much does it cost to be a student at a local university? When tuition,
housing, textbooks, transportation, and meal plans are considered, it becomes difficult to
argue that there is a stark difference in the cost of a semester at home versus a semester
abroad.

a) Argumentative b) Descriptive c) Persuasive d) Narrative

What is a descriptive paragraph?

a) Text describing a person, animal, place, or thing
b) Text telling a story to the reader

c) Text giving your opinion to the reader

d) Text explaining a concept or an idea.

How many topics should be covered in a paragraph?

a) one b) two c) three d) four
What is the term for the smooth and logical flow of sentences in a paragraph?
a) Unity b) Coherence

c) Adequate development d) Variety

He handled the load carefully. (change into passive voice)
a) The load were carefully handled by him.

b) The load is carefully handled by him.

c¢) The load has been carefully handled by him1

d) The load was carefully handled by him.

He was praised by his father. (Identify the Active Voice of the given sentence)

a) His father is praising him. b) His father will praise him.
c) His father praised him. d) His father has praised him3
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The scientist made a ground-breaking discovery. (Change into Passive voice)
a) Ground — breaking discovery was made by the scientist.

b) A ground-breaking discovery was made by the scientist.

c¢) A ground-breaking discovery is made by the scientist.

d) A ground-breaking discovery has been made by the scientist.

Either Maya or her sisters the answer.

(Identify the correct form of verb)

a) know b) knows ¢) knowing d) known

Everyone to dance at their free time.

(Identify the correct form of verb)

a) likes b) like c) liking d) None of these

One of the lost his way while ice hiking. (Choose the correct option)

a) Students b) Student c) Student’s d) Students’

The chairman and president  going to lead the team from today.

(Identify the correct form of verb)

a) is b) are c) have d) were

The student who  hard will succeed. (Indentify the correct form of verb)

a) work b) works

c) either work or works d) None of these

Pass me sugar from the table. (Choose the correct article)

a) the b) a ) an d) no article
cars have you owned so far? (Choose the appropriate option)

a) How b) How many ¢) How much d) How more

Her work is superior  mine. (Choose the appropriate preposition)

a) for b) at c) to d) of

I haven’t seen him  yesterday. (Choose theappropriate preposition)

a) since b) for ¢) during d) until

No sooner had she finished one project . she started the next.

(Choose the appropriate conjunction)

a) than b) when c) but d) or

* %k sk ok ok
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Question Paper Version : A
USN

First/Second Semester B.E./B.Tech./B.Design Degree Examination,
June/July 2025

Innovation and Design Thinking

Time: 1 hr. Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.
1.  Design thinking supports in
a) Developing the product b) ‘Developing the strategy
c) Developing the process d). All of these
2.  What is design considerations are not linked with?
a) Products b) Services
c) Business d) Computers

3. Design thinking supports in developing product features to improve the services to the

customers.
a) Yes b) No

4. Design thinkers in an organizations are
a) People b) Employees c) Managers d) All of these

5.  What are the steps of Design Thinking process?
a) Understand > Draw > Ideate > Create > Test
b) Empathize > Define > Ideate > Prototype > Test
c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

6.  Which of the below firm is associated the most with design thinking?

a) Ikea b) Ideo c) Idea d) Ikei
7.  Design thinking helps in?

a) Innovation b) Data analytics

¢) Financial planning d) Operational efficiency
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During which stage would you consult experts to learn more about the areas of concern
and gain an understanding of other people’s experiences?
a) Prototype b) Define c) Ideate d) Empathize

When defining a problem your problem statement should include solutions?
a) True b) False

Team based design thinking involves
a) Right type of team b) Right team culture
c) Leadership d) All of these

The main uses of a customer journey map are,

a) This gives design thinkers a near first-hand experience of what a customer goes
through.

b) The map can give us the emotional roller coaster of the designer.

c) The output of the map is a list of problems that the design techniques involve.

d) The map also serves as a visual aid to communicate the situation of the user

Which among the below options is the most compelling type of story

a) Visual b) Textual c) Graphs d) None of these
Journey mapping is also called as mapping.
a) Path b) Experience c) Conduct d) Feedback

A prototype is a simple experimental model of a proposed solution used to,
a) Test ideas b) Validate ideas c) Both (a) and (b) _ d) None of these

Which of the following are not tools of design thinking
a) Co-creation b) Prototype ¢) Mind mapping d) Online marketing

Co-creation with respect to design thinking means

a) Building a new product with in the available resources.

b) Any process that brings users‘and designers together to work towards a shared goal
c) Finding a new market for the product available

d) None of these

Mind mapping is used for

a) Visualize b) Organize c) Classify d) All of these
Visualization as a tool of design thinking would involve presenting data through
a) Clear presentations b) Images and Stories

c¢) Both (a) and (b) d) None of these

The end goal of value chain analysis is to

a) Create better value for the customers

b) To set common skills and goals for value chain partners
c) Both (a) and (b)

d) None of these
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Rapid concept development with reference to design thinking tool refers to,
a) New business opportunities

b) Faster thinking ability

c) Both (a) and (b)

d) None of these

Procedure models facilitates communication between
a) Business Analysts b)- Process Partners
c) Developers d) All of these

In the last few decades business process model has replaced organization’s packages,
Time and movement (TMS) and Total Quality Management (TQM).
a) Yes b) No

Identify which is not the advantage of business process modeling from below options
a) Improves process communications

b) Increase control and consistency

c¢) Improves operational efficiency

d) Decreases market-share and in-turn revenues

Agile methods are popular in software industry but other industries do not want to pursue
those agile methods.
a) True b) False

Design thinking features include,

a) Uses empathy to understand how people feel about using a product or service
b) Ultimate goal is to improve customer live and knowledge

c¢) Both (a) and (b)

d) None of these

Agile method can accommodate changes at-any time compared to the waterfall method
a) True b) False

Design thinking encompasses,

a) Feasibility b) Viability c) Desirability d) All of these
Where does the information of defining the problem in the define stage come from
a) Testing stage b) Prototype stage

¢) Ideate stage d) Empathy stage

What is the meaning of SCRUM?

a) Systematic customer resolution unravelling meeting
b) Systematic continues recharge unravelling meeting
c) Systematic customer redesign unravelling meeting
d) Systematic continues recovery unravelling meeting

Agile methodology is a practice,

a) Continuous iteration of development and testing in the software development process
b) Continuous thinking of development and verify the software development process

c¢) Continuous process of thinking and verify the software development process

d) Continuous follow up of thinking and design the software development process
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Strategic management is the process of setting,
a) Goals b) Procedures c) Objectives d) All of'these

Which of the below mentioned is not the practice of integrating design thinking and
strategic innovation?
a) Reviewing b) Stimulating c)- Collaborating d) All of these

Sustaining innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Disruptive innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Radical innovation refers to,

a) a new technology completely disrupts existing business or economy and creates a new
business model

b) refers to a series of small, gradually built improvements.to existing products processes

ormethods to maintain competitive position over time
c) both (a) and (b)

d) None of these

Architectural innovation is described as the reconfiguration of existing product
technologies,

a) True b) False

In what type of innovation one or more components of a product is changed while the
overall design stays the same.

a) Architectural innovation b) Modular innovation

c¢) Both (a) and (b) d) None of these

Which of the below mentioned is the feature of strategic innovation?
a) Concept is based on long term perspective
b) To create competitive space for the products and services

¢) Combines business process with creative solutions to the problems in the organizations
d) All of these

What are the four quadrants of innovation matrix?
a) Radically disruptive-incrementally disruptive
b) Radically sustaining-incrementally sustaining
c) both (a) and (b)

d) None of these
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Benefits of interaction between the design thinking and strategic innovation in an

organization are,

a) Design thinking helps in developing products and services and in turn strategy of the
organization.

b) Design thinking provides an opportunity to integration of new idea essential for the

development of right strategy for the organization.

c) both (a) and (b)

d) None of these

Mr. Rahul wants to design a new bed that he can sell to nursing homes to use with their
patients. However, Rahul doesn’t want anything to do with older adults or people with
disabilities. According to the design thinking process, Mr.Rahul will face problems
because he is missing .

a) Empathy b) Creativity c) Practicality d) Imagination

Mr. Ram is creating a new product for university students. He takes a design thinking
approach. His first step is addressing who he is creating the product for and conducts
research on understanding this target market. What is this step in the design thinking
process?

a) Define b) Ideate ¢) Empathize d) Prototype

Learning goals in design thinking workshop are related to,
a) Define learning outcomes b) Mapping with the problem statement
c¢) Understanding culture of the organization d) Defining learning styles

During the design thinking workshop, providing introduction is important to engage
participants.
a) True b) False

Closing remarks of the design thinking workshop supports in motivating the participants
to apply concepts of design thinking at the workplace.
a) True b) False

Stages of Design thinking workshop atre planning stage and workshop stage
a) True b) False

In the stages of design thinking empathy means

a) Identifying areas of concern in the business

b) Identifying from the persepective of the employees
¢) Identifying from the perspective of the product

d) All of these

You will interview people to gain an understanding of how they feel during the
stage of design thinking.
a) Test b) Define c) Ideate d) Empathize

Prototype should only be demonstrated and tested within the team.
a) True b) False

No alterations are to be made after the testing phase.
a) True b) False

* %k sk ok ok
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INSTRUCTIONS TO THE CANDIDATES

1.  Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

1.  Mr. Rahul wants to design a new bed that he can sell to nursing homes to use with their
patients. However, Rahul doesn’t want anything to.do with older adults or people with
disabilities. According. to the design thinking process, Mr.Rahul will face problems
because he is missing .

a) Empathy b) Creativity c) Practicality d) Imagination

2.  Mr. Ram is creating a new product for university students. He takes a design thinking
approach. His. first step is addressing who he is creating the product for and conducts
research on understanding this target market. What is this step in the design thinking
process?

a) Define b) Ideate c) Empathize d) Prototype

3. Learning goals in design thinking workshop are related to,
a) Define learning outcomes b) Mapping with the problem statement
c¢) Understanding culture of the organization d) Defining learning styles

4. During the design thinking workshop, providing introduction is important to engage
participants.
a) True b) False

5. Closing remarks of the design thinking workshop supports in motivating the participants
to apply concepts of design thinking at the workplace.
a) True b) False

6. Stages of Design thinking workshop are planning stage and workshop stage
a) True b) False
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In the stages of design thinking empathy means

a) Identifying areas of concern in the business

b) Identifying from the persepective of the employees
c) Identifying from the perspective of the product

d) All of these

You will interview people to gain an understanding of how they feel during the
stage of design thinking.
a) Test b) Define ¢) Ideate d) Empathize

Prototype should only be demonstrated and tested within the team.
a) True b) False

No alterations are to be made after the testing phase.
a) True b) False

Strategic management is the process of setting,
a) Goals b) Procedures c) Objectives d) All ofthese

Which of the below mentioned is not the practice of integrating design thinking and
strategic innovation?
a) Reviewing b) Stimulating c) Collaborating d) All of these

Sustaining innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Disruptive innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Radical innovation refers to,

a) a new technology completely disrupts existing business or economy and creates a new
business model

b) refers to a series of small, gradually built improvements to existing products processes
or methods to maintain competitive position over time

¢) both (a) and (b)

d) None of these

Architectural” innovation is described as the reconfiguration of existing product
technologies,
a) True b) False

In what type of innovation one or more components of a product is changed while the
overall design stays the same.

a) Architectural innovation b) Modular innovation

c¢) Both (a) and (b) d) None of these
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Which of the below mentioned is the feature of strategic innovation?

a) Concept is based on long term perspective

b) To create competitive space for the products and services

c) Combines business process with creative solutions to the problems in the organizations
d) All of these

What are the four quadrants of innovation matrix?
a) Radically disruptive-incrementally disruptive
b) Radically sustaining-incrementally sustaining
c) both (a) and (b)

d) None of these

Benefits of interaction between the design thinking and strategic innovation in an

organization are,

a) Design thinking helps in developing products and services and in turn strategy of the
organization.

b) Design thinking provides an opportunity to integration of new idea essential for the

development of right strategy for the organization.

¢) both (a) and (b)

d) None of these

The main uses of a customer journey map are,

a) This gives design thinkers a near first-hand experience of what a customer goes
through.

b) The map can give us the emotional roller coaster of the designer.

c) The output of the map is a list of problems that the design techniques involve.

d) The map also serves as a visual aid to communicate the situation of the user

Which among the below options is the most compelling type of story

a) Visual b) Textual c) Graphs d) None of these
Journey mapping is also called as mapping.
a) Path b) Experience c) Conduct d) Feedback

A prototype is a simple experimental model of a proposed solution used to,
a) Test ideas b) Validate ideas ¢) Both(a)and (b) d) None of these

Which of the following are not tools of design thinking
a) Co-creation b) Prototype ¢) Mind mapping d) Online marketing

Co-creation with respect to design thinking means

a) Building a new product with in the available resources.

b) Any process that brings users and designers together to work towards a shared goal
c¢) Finding a new market for the product available

d) None of these

Mind mapping is used for
a) Visualize b) Organize c) Classify d) All of these
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Visualization as a tool of design thinking would involve presenting data through
a) Clear presentations b) Images and Stories
c¢) Both (a) and (b) d) None of these

The end goal of value chain analysis is to

a) Create better value for the customers

b) To set common skills and goals for value chain partners
c) Both (a) and (b)

d) None of these

Rapid concept development with reference to design thinking toolrefers to,
a) New business opportunities

b) Faster thinking ability

c) Both (a) and (b)

d) None of these

Design thinking supports in

a) Developing the product b) Developing the strategy
c) Developing the process d) Allofthese

What is design considerations are not linked with?

a) Products b) Services

c) Business d) Computers

Design thinking supports in developing product features to improve the services to the
customers.
a) Yes b) No

Design thinkers in an organizations are
a) People b) Employees ¢). Managers d) All of these

What are the steps of Design Thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Which of the below firm is associated the most with design thinking?

a) Ikea b) Ideo c) Idea d) Ikei
Design thinking helps in?

a) Innovation b) Data analytics

c¢) Financial planning d) Operational efficiency

During which stage would you consult experts to learn more about the areas of concern
and gain an understanding of other people’s experiences?
a) Prototype b) Define c) Ideate d) Empathize

When defining a problem your problem statement should include solutions?
a) True b) False
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Team based design thinking involves

a) Right type of team b) Right team culture
c) Leadership d) All of these
Procedure models facilitates communication between

a) Business Analysts b) Process Partners
c¢) Developers d). All of these

In the last few decades business process-model has replaced organization’s packages,
Time and movement (TMS) and Total Quality Management (TQM).
a) Yes b) No

Identify which is not the advantage of business process modeling from below options
a) Improves process communications

b) Increase control and consistency

c¢) Improves operational efficiency

d) Decreases market-share and in-turn revenues

Agile methods are popular in software industry but other industries do not want to pursue
those agile methods.
a) True b) False

Design thinking features include,

a) Uses empathy to understand how people feel about using a product or service
b) Ultimate goal is to improve customer live and knowledge

c¢) Both (a) and (b)

d) None of these

Agile method can accommodate changes at any time compared to the waterfall method
a) True b) False

Design thinking encompasses,

a) Feasibility b) Viability c) Desirability d) All of these
Where does the information of defining the problem in the define stage come from
a) Testing stage b) Prototype stage

c) Ideate stage d) Empathy stage

What is the meaning of SCRUM?

a) Systematic customer resolution unravelling meeting
b) Systematic continues recharge unravelling meeting
c) Systematic customer redesign unravelling meeting
d) Systematic continues recovery unravelling meeting

Agile methodology is a practice,

a) Continuous iteration of development and testing in the software development process
b) Continuous thinking of development and verify the software development process

c¢) Continuous process of thinking and verify the software development process

d) Continuous follow up of thinking and design the software development process
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First/Second Semester B.E./B.Tech./B.Design Degree Examination,
June/July 2025

Innovation and Design Thinking

Time: 1 hr. Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1.  Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

1.  Strategic management is the process of setting,
a) Goals b) Procedures c) Objectives d) All of these

2.  Which of the below mentioned is not the practice of integrating design thinking and
strategic innovation?
a) Reviewing b) Stimulating c) Collaborating d) All of these

3. Sustaining innovation means,
a) Concept of improving and growing the existing markets
b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)
d) None of these

4. _ Disruptive innovation means,
a) Concept of improving and growing the existing markets
b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)
d) None of these

5. Radical innovation refers to,
a) a new technology completely disrupts existing business or economy and creates a new
business model
b) refers to a series.of small, gradually built improvements to existing products processes
or methods to maintain competitive position over time
c) both (a) and(b)
d) None of these
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Architectural innovation is described as the reconfiguration of existing product
technologies,
a) True b) False

In what type of innovation one or more components of a product is changed while the
overall design stays the same.

a) Architectural innovation b) Modular innovation

c¢) Both (a) and (b) d)- None of these

Which of the below mentioned is the feature of strategic innovation?
a) Concept is based on long term perspective
b) To create competitive space for the products and services

c) Combines business process with creative solutions to the problems in the organizations
d) All of these

What are the four quadrants of innovation matrix?
a) Radically disruptive-incrementally disruptive
b) Radically sustaining-incrementally sustaining
c) both (a) and (b)

d) None of these

Benefits of interaction between the design thinking and strategic innovation in an

organization are,

a) Design thinking helps in developing products and services and in turn strategy of the
organization.

b) Design thinking provides an opportunity to integration of new idea essential for the

development of right strategy for the organization.
c¢) both (a) and (b)

d) None of these

Design thinking supports in

a) Developing the product b) Developing the strategy
c) Developing the process d) All of these

What is design considerations are not linked with?

a) Products b) Services

c) Business d) Computers

Design thinking supports in developing product features to improve the services to the
customers.
a) Yes b) No

Design thinkers in an organizations are
a) People b) Employees c) Managers d) All of these

What are the steps of Design Thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try
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Which of the below firm is associated the most with design thinking?

a) Ikea b) Ideo c) Idea d) Ikei
Design thinking helps in?

a) Innovation b)- Data analytics

¢) Financial planning d) Operational efficiency

During which stage would you consult experts to learn more about the areas of concern
and gain an understanding of other people’s experiences?
a) Prototype b) Define c) Ideate d) Empathize

When defining a problem your problem statement should include solutions?
a) True b) False

Team based design thinking involves
a) Right type of team b) Right team culture
c) Leadership d) Allofthese

Mr. Rahul wants to design a new bed that he can sell to nursing homes to use with their
patients. However, Rahul doesn’t want anything to do with older adults or people with
disabilities. "According to the design thinking process, Mr.Rahul will face problems
because he is missing .

a) Empathy b) Creativity c) Practicality d) Imagination

Mr. Ram is creating a new product for university students. He takes a design thinking
approach. His first step is addressing who he s creating the product for and conducts
research on understanding this target market.. What is this step-in the design thinking
process?

a) Define b) Ideate c) Empathize d) Prototype

Learning goals‘in design thinking workshop are related to,
a) Define learning outcomes b) Mapping with the problem statement
c¢) Understanding culture of the organization d) Defining learning styles

During the design thinking workshop, providing. introduction is important to engage
participants.
a). True b) False

Closing remarks of the design thinking workshop supports in motivating the participants
to apply concepts of design thinkingat the workplace.
a) True b) False

Stages of Design thinking workshop are planning stage and workshop stage
a) True b) False

In the stages of design thinking empathy means

a) Identifying areas of concern in the business

b) Identifying from the persepective of the employees
c) Identifying from the perspective of the product

d) All of these
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You will interview people to gain an understanding of how they feel during the
stage of design thinking.

a) Test b) Define c) Ideate d) Empathize
Prototype should only be demonstrated and tested within the team.

a) True b) False

No alterations are to be made after the testing phase.

a) True b) False

Procedure models facilitates communication between

a) Business Analysts b) Process Partners

c) Developers d) All of these

In the last few decades business process model has replaced organization’s packages,
Time and movement (TMS) and Total Quality Management (TQM).
a) Yes b) No

Identify which is not the advantage of business process modeling from below options
a) Improves process communications

b) Increase control and consistency

c¢) Improves operational efficiency

d) Decreases market-share and in-turn revenues

Agile methods are popular in software industry but other industries do not want to pursue
those agile methods.
a) True b) False

Design thinking features include,

a) Uses empathy to understand how people feel about using a product or service
b) Ultimate goal is to improve customer live and knowledge

c¢) Both (a) and (b)

d) None of these

Agile method can accommodate changes at any time compared to the waterfall method
a) True b). False

Design thinking encompasses,

a) Feasibility b) Viability c) Desirability d) All of these
Where does the information of defining the problem in the define stage come from
a) Testing stage b) Prototype stage

c) Ideate stage d) Empathy stage

What is the meaning of SCRUM?

a) Systematic customer resolution unravelling meeting
b) Systematic continues recharge unravelling meeting
c) Systematic customer redesign unravelling meeting
d) Systematic continues recovery unravelling meeting
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Agile methodology is a practice,

a) Continuous iteration of development and testing in the software development process
b) Continuous thinking of development and verify the software development process

c¢) Continuous process of thinking and verify the software development process

d) Continuous follow up of thinking and design the software development process

The main uses of a customer journey map are,

a) This gives design thinkers a near first-hand experience of what a customer goes
through.

b) The map can give us the emotional roller coaster of the designer.

c) The output of the map is a list of problems that the design techniques involve.

d) The map also serves as a visual aid to communicate the situation of the user

Which among the below options is the most compelling type of story

a) Visual b) Textual c) Graphs d) None of these
Journey mapping is also called as mapping.
a) Path b) Experience ¢) Conduct d) Feedback

A prototype is a simple experimental model of a proposed solution used to,
a) Test ideas b) Validate ideas c) Both(a)and (b) d) None of these

Which of the following are not tools of design thinking
a) Co-creation b) Prototype ¢) Mind mapping d) Online marketing

Co-creation with respect to design thinking means

a) Building a new product with in the available resources.

b) Any process that brings users and designers together to work towards a shared goal
c¢) Finding a new market for the product available

d) None of these

Mind mapping is used for

a) Visualize b) Organize c) Classify d) All of these
Visualization as a tool of design thinking would involve presenting data through
a) Clear presentations b) Tmages and Stories

c¢) Both (a) and (b) d) None of these

The end goal of value chain analysis is to

a) Create better value for the customers

b) To set common skills and goals for value chain partners
c) Both (a) and (b)

d) None of these

Rapid concept development with reference to design thinking tool refers to,
a) New business opportunities

b) Faster thinking ability

c) Both (a) and (b)

d) None of these
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1. Procedure models facilitates communication between
a) Business Analysts b) ‘Process Partners
c) Developers d). All of these

2. In the last few decades business process model has replaced organization’s packages,
Time and movement (TMS) and Total Quality Management (TQM).
a) Yes b) No

3. Identify which is not the advantage of business process modeling from below options
a) Improves process communications
b) Increase control and consistency
c¢) Improves operational efficiency
d) Decreases market-share and in-turn revenues

4. Agile methods are popular in software industry but other industries do not want to pursue
those agile methods.
a) True b) False

5. Design thinking features include,
a) Uses empathy to understand how people feel about using a product or service
b) Ultimate goal is to improve customer live and knowledge
c¢) Both (a) and (b)
d) None of these

6. Agile method can accommodate changes at any time compared to the waterfall method
a) True b) False
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Design thinking encompasses,

a) Feasibility b) Viability c) Desirability d) All of these
Where does the information of defining the problem'in the define stage come from
a) Testing stage b) Prototype stage

c) Ideate stage d) Empathy stage

What is the meaning of SCRUM?

a) Systematic customer resolution unravelling meeting
b) Systematic continues recharge unravelling meeting
c) Systematic customer redesign unravelling meeting
d) Systematic continues recovery unravelling meeting

Agile methodology is a practice,

a) Continuous iteration of development and testing in the software development process
b) Continuous thinking of development and verify the software development process

c¢) Continuous process of thinking and verify the software development process

d) Continuous follow up of thinking and design the software development process

Mr. Rahul wants to design a new bed that he can sell to nursing homes to use with their
patients. However, Rahul doesn’t want anything to do with older adults or people with
disabilities. According to the design thinking process, Mr.Rahul will face problems
because he is missing .

a) Empathy b) Creativity c) Practicality d) Imagination

Mr. Ram is creating a new product for university students. He takes a design thinking
approach. His first step is addressing who he is creating the product for and conducts
research on understanding this target market.- What is this step in the design thinking
process?

a) Define b) Ideate c) Empathize d) Prototype

Learning goals in design thinking workshop are related to,
a) Define learning outcomes b) Mapping with the problem statement
c¢) Understanding culture of the organization d) Defining learning styles

During the design thinking workshop, providing- introduction is important to engage
participants.
a) True b) False

Closing remarks of the design thinking workshop supports in motivating the participants
to apply concepts of design thinking at the workplace.
a) True b) False

Stages of Design thinking workshop are planning stage and workshop stage
a) True b) False

In the stages of design thinking empathy means

a) Identifying areas of concern in the business

b) Identifying from the persepective of the employees
c) Identifying from the perspective of the product

d) All of these
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You will interview people to gain an understanding of how they feel during the
stage of design thinking.
a) Test b) Define c) Ideate d) Empathize

Prototype should only be demonstrated and tested within the team.
a) True b) False

No alterations are to be made after the testing phase.
a) True b) False

Strategic management is the process of setting,
a) Goals b) Procedures c) Objectives d) All ofthese

Which of the below mentioned is not the practice of integrating design thinking and
strategic innovation?
a) Reviewing b) Stimulating c) Collaborating d) All of these

Sustaining innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Disruptive innovation means,

a) Concept of improving and growing the existing markets

b) Create a new value to the existing market and also create a completely new market
c¢) Both (a) and (b)

d) None of these

Radical innovation refers to,

a) a new technology completely disrupts-existing business or economy and creates a new
business model

b) refers to a series of small, gradually built improvements to existing products processes

or methods to maintain competitive position overtime
¢) both (a) and (b)

d) None of these

Architectural innovation -is described as the reconfiguration of existing product
technologies,

a) True b) False

In what type of innovation one or more components of a product is changed while the
overall design stays the same.

a) Architectural innovation b) Modular innovation

c¢) Both (a) and (b) d) None of these

Which of the below mentioned is the feature of strategic innovation?

a) Concept is based on long term perspective

b) To create competitive space for the products and services

c) Combines business process with creative solutions to the problems in the organizations
d) All of these
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What are the four quadrants of innovation matrix?
a) Radically disruptive-incrementally disruptive
b) Radically sustaining-incrementally sustaining
c) both (a) and (b)

d) None of these

Benefits of interaction between the design thinking and strategic innovation in an

organization are,

a) Design thinking helps in developing products and services and in turn strategy of the
organization.

b) Design thinking provides an opportunity to integration of new idea essential for the

development of right strategy for the organization.

c¢) both (a) and (b)

d) None of these

The main uses of a customer journey map are,

a) This gives design thinkers a near first-hand experience of what a customer goes
through.

b) The map can give us the emotional roller coaster of the designer.

c) The output of the map is a list of problems that the design techniques involve.

d) The map also serves as a visual aid to communicate the situation of the user

Which among the below options is the most compelling type of story

a) Visual b) Textual c) Graphs d) None of these
Journey mapping is also called as mapping.
a) Path b) Experience c) Conduct d) Feedback

A prototype is a simple experimental model of a proposed solution used to,
a) Test ideas b) ‘Validate ideas ¢)-Both (a) and (b) . d) None of these

Which of the following are not tools of design thinking
a) Co-creation b) Prototype ¢) Mind mapping d) Online marketing

Co-creation with respect to design thinking means

a) Building a new product with in the available resources.

b) Any process that brings users and designers together to work towards a shared goal
c¢) Finding a new market for the product available

d) None of these

Mind mapping isused for

a) Visualize b) Organize c) Classify d) All of these
Visualization as a tool of design thinking would involve presenting data through
a) Clear presentations b) Images and Stories

c¢) Both (a) and (b) d) None of these

The end goal of value chain analysis is to

a) Create better value for the customers

b) To set common skills and goals for value chain partners
c) Both (a) and (b)

d) None of these
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Rapid concept development with reference to design thinking tool refers to,
a) New business opportunities

b) Faster thinking ability

c) Both (a) and (b)

d) None of these

Design thinking supports in

a) Developing the product b) Developing the strategy
c) Developing the process d) All of these

What is design considerations are not linked with?

a) Products b) Services

c) Business d) Computers

Design thinking supports in developing product features to improve the services to the

customers.
a) Yes b) No

Design thinkers in an organizations are
a) People b) Employees c) Managers d) All of these

What are the steps of Design Thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Which of the below firm is associated the most with design thinking?

a) Ikea b) Ideo c) Idea d) Ikei
Design thinking helps in?

a) Innovation b) Data analytics

c¢) Financial planning d) Operational efficiency

During which stage would you consult experts to learn more about the areas of concern
and gain an understanding of other people’s experiences?
a) Prototype b) Define c) Ideate d) Empathize

When defining a problem your problem statement should include solutions?
a) True b) False

Team based design thinking involves

a) Right type of team b) Right team culture
c) Leadership d) All of these
* sk ok sk ok
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INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Note : Choose the correct word to compare the sentence :

1. Ivaru Nanna

a) Sarilde b) Tande c¢) Chikkadu d) Doddadu
2.  Nanna Mysuru.

a) Kaalu b) ishta c) Nagu d) Ooru
3. Neenu Baa

a) Akka b) Bega c) Auna d) Tande

4. Nanage kannada
a) Red b) Yellow c) Orange d) Gottu

5. Nanu Aadide.
a) Aata b) Oota c) Malagu d) Galate

Note : Write Kannada word for the given English word and English word for the
given Kannada word :

6. Holiday

a) Raje b) « Festival c) Health d) Celebrations
7. Song

a) Nrutya b) Vignana c) Kadime d) Haaddu
8. Kai

a) Neck b) Hand c) Head d) Leg
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Tale
a) Hand

Tarakaari
a) Banana

Habba
a) Marriage

Magalu
a) Father

Mane
a) House

b)

b)

b)

b)

b)

Head

Vegetable

Festival

Daughter

Temple

c) Ear

c) Fruit

¢) Heritage

c) Son

c) Hospital

Had your lunch? Choose the correct answer in Kannada.

a) Beda
Thota
a) House

Granthalaya means
a) Class room

“Arogya” means
a) Shelter

“Ishta I1la” means
a) [ will not do

“Good Night” means.
a) Shubha Ratri

Animal
a) Praani

Fruit
a) Hannu

Teacher
a) Farmer

b)

b)

b)

b)

b)

b)

b)

b)

b)

Aitu

Garden

Library

House

I don’t like

Danya vadagalu

Aane

Talakari

Gurugalu

Note : Choose the appropriate answer :

Hogu :
a) Baralla

Kalegu + inda : balegininda : : Mane + inda :

a) Maneyinda

Kudi : Kudiyiri : : Haaki :

a) Haakona

Hogona : : Ba:

b) Hodanu

b) Manege

b)

Hogona

c) Oota

¢) Gowdon

c) Temple

c) Health

¢) Twill do

¢) Kshamisi

c) Jinke

c) Mara

c) Manthre

c) Barona

¢) Maneyannu

c) Beku
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d) Nose

d) Milk

d) Ritual

d) Mother

d) Garden

d) Thindi

d) Shop

d) Lab

d) Wealth

d) Nothing

d) None of these

d) Kuri

d) Gida

d) Sainika

d) Bandanu

d) Maneyalli

d) Hakiri
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Note : Write the English word for Kannada work :

Aata : Adidanu : : Oota :
b) Madidanu

a) Odidanu

Pramaana :

a) Very good

Ganita :

a) Biology

Bili:
a) Black

Dodda :
a) Small

Kodabeda :

a) Give me

Kaagada :

a) Paper

Samskruti :

a) Festival

Vidyarthi :

a) Teacher

Navilu :
a) Hen

Banna :
a) White

Hendati:
a) Husband

Idu
a) This

Yelli
a) Where

Namma
a) Our

Navu
a) We

Nata
a) Actor

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

Promise

Physics

Red

Big

Give us

Computer

Haritage

Principal

Peacock

Banana

Wife

That

Which

Your

Do

Actress

c) Enuilla

c¢) Purpose

c) Mathematics

c) Yellow

c) Fat

¢) Give

c) English

c) Weep

c)- Head

c) Ant

c) Colour

c) <Sister

c) What

c) Your

c) There

c) It

c) Scientist
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d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

Mane

Thankyou

English

White

Thin

Don’t give

Tamil

Culture

Student

Parrot

Red

Son

Who

Our

Where

He

d) None of these



43.

44.

45.

46.

47.

48.

49.

50.

Hosadu
a) Old

Vandanegalu
a) Good night

Railu
a) Train

Hogabeda
a) Go

Oodu
a) Play

Kaalu
a) Leg

Malagu
a) Keep

Hogu
a) Go

b)

b)

b)

b)

b)

b)

b)

New c) Must
Thank you c) Go
Bus ¢) Scooter
Don’t go c) Don’t come
Run c) Were
Hand c) Finger
Sleep ¢) Walk
Open c) Put

%ok ok k%
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d)

d)

d)

d)

d)

d)

d)

d)

Just

Went

Car

Come

Call

Stomach

Do

Do
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Question Paper Version : B

USN

First/Second Semester B.E./B.Tech. Degree Examination, June/July 2025
Balake Kannada

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Note : Choose the appropriate answer :

1. Hogu : Hogona:: Ba:
a) Baralla b) Hodanu c) Barona d) Bandanu

2. Kalegu + inda : balegininda : : Mane + inda :
a) Maneyinda b) Manege ¢) Maneyannu d) Maneyalli

3. Kudi: Kudiyiri :: Haaki :
a) Haakona b) Hogona c) Beku d) Hakiri

Note : Write the English word for Kannada work :

4, Aata: Adidanu : : Oota:

a) Odidanu b) Madidanu c) Enuilla d) Mane
5. Pramaana :

a) Very good b) Promise c) Purpose d) Thankyou
6. Ganita :

a) Biology b) Physics c) Mathematics d) English
7. Bili:

a) Black b) Red c) Yellow d) White
8. Dodda:

a) Small b) Big c) Fat d) Thin

Ver—B—-1o0f4



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Kodabeda :
a) Give me

Kaagada :
a) Paper

Nata
a) Actor

Hosadu
a) Old

Vandanegalu
a) Good night

Railu
a) Train

Hogabeda
a) Go

Oodu
a) Play

Kaalu
a) Leg

Malagu
a) Keep

Hogu
a) Go

Samskruti:
a) Festival

Vidyarthi :
a)  Teacher

Navilu :
a) Hen

Banna :
a) White
Hendati :
a) Husband

Idu
a) This

Yelli
a) Where

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

Give us

Computer

Actress

New

Thank you

Bus

Don’t go

Run

Hand

Sleep

Open

Haritage

Principal

Peacock

Banana

Wife

That

Which

c) Give

c) English

¢) Scientist

c) Must

c) Go

c) Scooter

¢) Don’t come

c) Were

c) Finger

¢) Walk

c) Put

c) Weep

c) Head

c) Ant

c) Colour

c) Sister

c) What

c) Your
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d) Don’t give

d) Tamil

d) None of these

d) Just

d) Went

d) Car

d) Come

d) Call

d) Stomach

d) Do

d) Do

d) Culture

d) Student

d) Parrot

d) Red

d) Son

d) Who

d) Our



27.

28.

29.

30.

31.

32.

33.

34.

35S.

36.

37.

38.

39.

40.

41.

42.

Namma

a) Our b) Your c) There
Navu

a) We b) Do c) It

Note : Choose the correct word to compare the sentence :

Ivaru Nanna

a) Sarilde b) Tande c) Chikkadu
Nanna Mysuru.

a) Kaalu b) ishta c) Nagu
Neenu Baa

a) Akka b) Bega c) Auna

Nanage kannada
a) Red b) Yellow ¢) Orange

Nanu Aadide.
a) Aata b) Oota c) Malagu

BKBKK107/207

d)

d)

d)

d)

d)

d)

Where

He

Doddadu

Ooru

Tande

Gottu

d) Galate

Note: Write Kannada word for the given English word and English word for the

given Kannada word :

Holiday

a) Raje b). Festival c) Health
Song

a) Nrutya b) Vignana c) Kadime
Kai

a) Neck b) Hand c) Head
Tale

a) Hand b) Head c) Ear
Tarakaari

a) Banana b) Vegetable c) Fruit
Habba

a) Marriage b) Festival c) Heritage
Magalu

a) Father b) * Daughter ¢) Son
Mane

a) House b) Temple c) Hospital
Had your lunch? Choose the correct answer in Kannada.

a) Beda b) Aitu c) Oota

Ver—B -3 of4

d)

d)

d)

d)

d)

Celebrations

Haaddu

Leg

Nose

Milk

d) Ritual

d)

d)

d)

Mother

Garden

Thindi



43.

44.

45.

46.

47.

48.

49.

50.

Thota
a) House

Granthalaya means
a) Class room

“Arogya” means
a) Shelter

“Ishta I1la” means
a) [ will not do

“Good Night” means.
a) Shubha Ratri

Animal
a) Praani

Fruit
a) Hannu

Teacher =
a) Farmer

b)

b)

b)

b)

b)

b)

b)

b)

Garden

Library

House

I don’t like

Danya vadagalu

¢) Gowdon

c) Temple

¢) Health

¢) Iwill do

¢) Kshamisi

Aane c) Jinke

Talakari ¢) Mara

Gurugalu c) Manthre
* kX%
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d) Shop

d) Lab

d) Wealth

d) Nothing

d) None of these

d) Kuri

d) Gida

d) Sainika
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Question Paper Version : C

USN

First/Second Semester B.E./B.Tech. Degree Examination, June/July 2025
Balake Kannada

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Note : Write Kannada word for the given English word and English word for the
given Kannada word :

1. Holiday

a) Raje b)  Festival ¢) Health d) Celebrations
2.  Song

a) Nrutya b) Vignana c) Kadime d) Haaddu
3. Kai

a) Neck b) Hand c) Head d) Leg
4. Tale

a) Hand b) Head c) Ear d) Nose
5. © Tarakaari

a) Banana b) Vegetable c) Fruit d) Milk
6. Habba

a) Marriage b) Festival c) Heritage d) Ritual
7. Magalu

a) Father b) - Daughter c) Son d) Mother
8. Mane

a) House b) Temple c) Hospital d) Garden

9. Had your lunch? Choose the correct answer in Kannada.
a) Beda b) Aitu c) Oota d) Thindi
Ver—C—-1o0f4



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Thota
a) House

Granthalaya means
a) Class room

“Arogya” means
a) Shelter

“Ishta I1la” means
a) [ will not do

“Good Night” means.
a) Shubha Ratri

Animal
a) Praani

Fruit
a) Hannu

Teacher =
a) Farmer

Note : Choose the correct word to compare the sentence :

Ivaru Nanna

b) Garden

b) Library

b) House

b) Idon’t like

b) Danya vadagalu

b) Aane

b) Talakari

b) Gurugalu

a) Sarilde b) Tande
Nanna Mysuru.

a) Kaalu b) ishta
Neenu Baa

a) Akka b) Bega
Nanage kannada

a) Red b) Yellow
Nanu Aadide.

a) Aata b) Oota

Note : Choose the appropriate answer :

Hogu :
a) Baralla

Kalegu + inda : balegininda : : Mane + inda :

a) Maneyinda

Hogona : : Ba:

b) Hodanu

b) Manege

Kudi : Kudiyiri : : Haaki :

a) Haakona

b) Hogona

¢) Gowdon

c) Temple

¢) Health

¢) Iwill do

¢) Kshamisi

c) Jinke

¢) Mara

c) Manthre

¢). Chikkadu

c) Nagu

c) Auna

c) ‘Orange

c) Malagu

c) Barona

¢) Maneyannu

c) Beku
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d) Shop

d) Lab

d) Wealth

d) Nothing

d) None of these

d) Kuri

d) Gida

d) Sainika

d) Doddadu

d) Ooru

d) Tande

d) Gottu

d) Galate

d) Bandanu

d) Maneyalli

d) Hakiri



26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Note : Write the English word for Kannada work :

Aata : Adidanu : : Oota :

a) Odidanu

Pramaana :
a) Very good

Ganita :

a) Biology
Bili :

a) Black

Dodda :
a) Small

Kodabeda :
a) Give me

Kaagada :
a) Paper

Nata
a) Actor

Hosadu
a) Old

Vandanegalu
a) Good night

Railu
a) Train

Hogabeda
a) Go

Oodu
a) Play

Kaalu
a) Leg

Malagu
a) Keep

Hogu
a) Go

Samskruti :
a) Festival

b) Madidanu
b) Promise
b) Physics
b) Red

b) Big

b) Give us
b) Computer
b) Actress
b) New

b) Thank you
b) Bus

b) Don’t go
b) Run

b) Hand

b) « Sleep

b) Open

b) Haritage

¢) Enuilla

c¢) Purpose

c) Mathematics

c) Yellow

c) Fat

¢) Give

c) English

c) Scientist

c). Must

c) Go

c) Scooter

c) ‘Don’t come

c) Were

c) Finger

c) Walk

c) Put

c) Weep
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d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

Mane

Thankyou

English

White

Thin

Don’t give

Tamil

None of these

Just

Went

Car

Come

Call

Stomach

Do

Do

Culture



43.

44.

45.

46.

47.

48.

49.

50.

Vidyarthi :

a) Teacher

Navilu :
a) Hen

Banna :
a) White

Hendati :
a) Husband

Idu
a) This

Yelli
a) Where

Namma

a) Our

Navu
a) We

b)

b)

b)

b)

b)

b)

b)

Principal

Peacock

Banana

Wife

That

Which

Your

Do

c) Head

c) Ant

¢) Colour

c) Sister

c) What

c) Your

¢) There

c) It

LR A I
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d) Student

d) Parrot

d) Red

d) Son

d) Who

d) Our

d) Where

d) He
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Question Paper Version : D

USN

First/Second Semester B.E./B.Tech. Degree Examination, June/July 2025
Balake Kannada

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Note : Choose the appropriate answer :

1. Hogu : Hogona:: Ba:
a) Baralla b) Hodanu c) Barona d) Bandanu

2. Kalegu + inda : balegininda : : Mane + inda :
a) Maneyinda b) Manege ¢) Maneyannu d) Maneyalli

3. Kudi: Kudiyiri :: Haaki :
a) Haakona b) Hogona c) Beku d) Hakiri

Note : Write the English word for Kannada work :

4, Aata: Adidanu : : Oota:

a) Odidanu b) Madidanu c) Enuilla d) Mane
5. Pramaana :

a) Very good b) Promise c) Purpose d) Thankyou
6. Ganita :

a) Biology b) Physics c) Mathematics d) English
7. Bili:

a) Black b) Red c) Yellow d) White
8. Dodda:

a) Small b) Big c) Fat d) Thin

Ver—D—-1o0f4



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Kodabeda :

a) Give me

Kaagada :
a) Paper

Samskruti :

a) Festival

Vidyarthi :

a) Teacher

Navilu :
a) Hen

Banna :
a) White

Hendati :
a) Husband

Idu
a) This

Yelli
a) Where

Namma
a) Our

Navu
a) We

Nata
a) Actor

Hosadu
a) Old

Vandanegalu

a) Good night

Railu
a) Train

Hogabeda
a) Go

Oodu
a) Play

Kaalu
a) Leg

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

b)

Give us

Computer

Haritage

Principal

Peacock

Banana

Wife

That

Which

Your

Do

Actress

New

Thank you

Bus

Don’t go

Run

Hand

c) Give

c) English

c) Weep

c) Head

c) Ant

c) Colour

¢) Sister

c) What

c) Your

¢)  There

c) Scientist

c) Must

c) Go

c) Scooter

c) Don’t come

c) Were

c) Finger
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d) Don’t give

d) Tamil

d)  Culture

d) Student

d) Parrot

d) Red

d) Son

d) Who

d) Our

d) Where

d) He

d) None of these

d) Just

d) Went

d) Car

d) Come

d) Call

d) Stomach



27.

28.

29.

30.

31.

32.

33.

34.

35S.

36.

37.

38.

39.

40.

41.

42.

BKBKK107/207

Malagu
a) Keep b) Sleep c) Walk d) Do
Hogu
a) Go b) Open c) Put d) Do

Note : Write Kannada word for the given English word and English word for the
given Kannada word :

Holiday

a) Raje b) Festival c) Health d) Celebrations
Song

a) Nrutya b) - Vignana c) Kadime d) Haaddu
Kai

a) Neck b) Hand c) Head d) Leg
Tale

a) Hand b) Head c) Ear d) Nose
Tarakaari

a) Banana b) Vegetable c) Fruit d) Milk
Habba

a) Marriage b) Festival c) ~Heritage d) Ritual
Magalu

a) Father b) Daughter c) Son d) Mother
Mane

a) House b) Temple c) Hospital d) Garden
Had your lunch? Choose the correct answer in Kannada.

a) Beda b) Aitu c) Oota d) Thindi
Thota

a) House b) Garden c) Gowdon d) Shop
Granthalaya means =

a) Class room b) Library c) Temple d) Lab
“Arogya” means

a) Shelter b) House c) Health d) Wealth
“Ishta Illa” means

a) [ will not do b) Idon’t like c) Iwilldo d) Nothing
“Good Night” means.

a) Shubha Ratri b) Danya vadagalu c¢) Kshamisi d) None of these
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43.

44.

45.

46.

47.

48.

49.

50.

Animal
a) Praani

Fruit
a) Hannu

Teacher
a) Farmer

Note : Choose the correct word to compare the sentence :

Ivaru Nanna

a) Sarilde b) -Tande c) Chikkadu

Nanna Mysuru.

a) Kaalu b) ishta c) Nagu

Neenu Baa

a) Akka b) Bega ¢) Auna

Nanage kannada

a) Red b) Yellow c) Orange

Nanu Aadide.

a) Aata b) Oota c) ~Malagu
Xk kX%

b) Aane c) Jinke
b) Talakari c) Mara
b) Gurugalu c) Manthre
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d) Kuri

d) Gida

d) Sainika

d) Doddadu

d) Ooru

d) Tande

d) Gottu

d) Galate
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10.

11.

12.
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13.

14.

15.

16.

17.

18.

19.

20.

21.
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23.

24.

25.

26.

27.

28.

29.

30.

31.
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33.

34.

35.

36.

37.

38.

39.

40.
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d) 2, e

d) BoRe3z)3
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